EAGRAROBREERT — 2 N— ABISH —F

2020128308 (k) 22EIEM3A

M C2= 5% 3m®L EEDE T
[A&4£] 1 7% :500,000  ~ 2 3#&:140,000  ~ 33#&:70,000 43#%&:50,000™ . 53 :40,000 9
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
I . AR :36. -4-3- . — FHEKX (EE)
1 sl grovs B3 o 1(3_6)3 4-4-3-3 | 42.3 2 (ig% anr
R:ZIT—MVZRIT— b B:gHFRFFLA HREEH T—VENX
D s 45 | EREE 1:36.4 5-5-4-4 | 42.4| — 3 454 | KIUFEX (Fk)
2|5|5| 7> YK 6.0 (172 Lo |BBET
R ZAZXH< R BRRFv > NG IS
. = S 210 | JNIERE— 1:36.4 1-1-1-1 | 42.7| — 5 493 | AEE= (EHA)
37| 7| P> X =7 - 56.0 (NF) @) ) F—AHFNZ AR
RHATAS v — BigA b—7 B
. . HEBX : —6-6- — TE*2 (EM)
4 6| X1 amFHay 48 Fied (11.316/.27) 6-6-6-5 | 42.2 4 ;1:334) G e
R:xXA4agyLayy B:O-INLy & ® FEE
-2 = B 4 | A—H 1:37.1 2-2-2-2 | 43.3| — 9 475 | WUBEE (FEH)
5(819 —>/7a—-7 v ~ 54.0 (2 1/2) +3) SHES
LY—FHIS5HL i/ eY-X THIE4S
. . : i — -37. -9-8- 3| = WIKEE (EE)
6 ELPACEE L 4| T 1(33/74)3 9-9-8-8 | 42.3 6 (4:; TRy
L:ZRNTTZXF— B:SyX—ET Y- TEHS
Q # 5 | FHEL 1:38.1 7-6-7-6 | 43.5| — 7 412 | WciEE (F)
71111 EXAA—-X 54.0 (5) (+2) (#%) 77— bEYI3 >
R:WN—5—y 7 B:ERH—bO-—H J—=H¥Tp—L
S k= f 7 | BNED 1:38.5 8-8-9-9 |43.6| — 8 438 | 2HES (ER)
8|810| TT %71~ &0 @ 1/2) © | Tr-2trEevar
L:Vv TRy b BiI—-Y FzOXx— RAEW IS
_ “ e 39, 35 2| - XEA (Tl
9l7l8|FLZVaTTd7 "3 80 1(349)2 FeeT |82 1 3612) HERT
R:TT/—RA) BFLITET FHh)Tr—1
S5 it 3 | AEE 1:39.9 10-10-10-10| 43.4 | — 10 | 420 |EREE (FEh)
Eﬂ 4| YT vIx 54.0 @) (13) | FIEEE
R:7x/—*2/ B:xFFNCK N _E4%
® 1 —F—@EBIERL
1T=7r= 7,9,8,3,5,6,1,10,2,4
20—F— 7,9,8,3,5,(1,6),10,2,4
Ja=9= 7,9,3,5,8,6,1,2,10,4
43—+ — 7,9,3,5,6,1,8,2,10,4
[ N5
B 3 380H 714K 3-5 490M e E 3-5 1,050 JEE 3-5-7 1,720H
B B 3 120 3-7 440 B = Bt 1,190M 3EE 3-5-7 7,790
5 140M 5-7 350/ B H 3-5 2,140/
7 1509

ARICOVWTRDTEEERROODE. TR LI,




